Old Town Cawce (o

CASTINE RUDDER KIT INSTRUCTIONS - FOR KAYAKS PRODUCED BEFORE NOVEMBER 2000

REPLACING KEEPER FOOTBRACES

Kit Contents: (1) Rudder assembly: Includes rudder, pivot bolt, split ring & cord

(2) Cable assemblies: Consisting of cable and cable tube

(1) 11”raising cord bungee with cord lock (1) M Block
(2) Footbrace tracks and pedals w/ straps (2) ¥4-20 lock nuts—
(2) Barrel Nuts (4) Swages —

(2) ¥4-20 x 3/4" bolts
(5) Cable clamps

(2) ¥4-20 x 1” bolts (large) (4) Lg. Washers
(2) Stamped washers (1) Jam cleat

(1) Tube Aqua Seal (2) 10-24lock nuts
(3) Sm. Washers (9) Rivets

(2) 10-24 x 1” bolts (small)

THIS IS A GOOD TIME TO SORT OUT ALL THE PARTS AND SEPARATE THEM FOR EASY
ACCESS DURING ASSEMBLY. PLEASE READ INSTRUCTIONS THOROUGHLY BEFORE
BEGINNING THE RUDDER ASSEMBLY.

Required tools: 3/16” Drill bit 3/8” wrench
1/4” Drill bit 7/16” wrench
Rubber Mallet Vice grips
Pop rivet tool Black Marker
Phillips head driver Tape Measure
Procedure
1. [Install the rudder assembly by sliding the pivot bolt through the rudder mount at the stern

of the kayak. Secure the rudder by placing the split ring through the small hole in the end of
the pivot bolt. (Illustration #1)

On each side measure forward approximately16” along the parting line of the kayak from
the stern end. Make a mark 1” above the parting line. Drill 1/4” holes at these marks with
the holes angling down toward the front of the boat. (Illustration #2 and #3)

Push the straight end of the rudder cable and the black carrier tube through the hole you
just drilled. Keep feeding the black carrier tube through until only 2 1/4” of the black
carrier tube remains outside the hull. Place a small amount of aqua seal around the black
carrier tube, then slowly slide the black carrier tube into the hole until 1 '4” of the black
carrier tube is left. Place a cable clamp around the black carrier tube 1” from the end and
make a mark through the hole in the cable clamp, move the cable clamp slightly and drill a
3/16” hole. Anchor the cable clamp to the deck with a rivet and backup washer, then dab a
small amount of aqua seal onto the head of the rivet. Repeat for the other rudder cable and
black carrier tube assembly. (Illustration #3 and #5)

Measure 6 1/2”(?) from the stern end of the kayak and center the rear edge of the M block so
that the rudder can rest between the V notch of the M block when it is in the raised position.
Mark the location of the four holes on the deck; drill 3/16” holes and rivet the M block into
place. (NOTE: M Block cannot be used as a tie down point on kayak during
transportation.) (Illustration #2)

Drill two 1/4" holes through the foam bulkhead approximately 2” in from the parting line on
the kayak (the line made when the two halves of the mold come together). Push the rudder
cable and black carrier tube through the holes and seal with a small amount of aqua seal.
NOTE: Standard Egrets have no bulkheads. (Illustration #4)

Remove the nuts from the front bolts of the seat using the 3/8” wrench and the Phillips head
screwdriver. Put a cable clamp on each carrier tube, and then install the cable clamp on the



10.

11.

12.

13.

bottom end the seat bolt. The cables should run to the outside of the kayak. Reinstall the
washer and lock nuts that hold the seat in place. (Illustration #6)

At this point, you should decide which side you want to have the raising cord for the rudder
(usually on the opposite side of the paddle holder.) Drill a 3/16” hole 3” forward from the
front seat bolt and 1” up from the parting line. A cable clamp needs to be placed on the deck
for the raising cord bungee. This is accomplished by putting a cable clamp on the rivet
before it is placed in the drilled hole then place a small flat washer on the underside of the
hull. Set the rivet using a pop rivet tool. (Illustrations #7)

Remove the Keeper footbraces that came with your kayak, you will not need them again.
Replace the old footbraces with the footbrace track, included in your kit. Use the existing
holes of the old footbraces. Male sure to put the foot pedal on at this point. Put the three
consecutive drilled holes (in the footbrace track) towards the bow end of the kayak and
secure with the 1” long bolts (large) and %-20 lock nuts using the Phillips head screwdrivers
and 7/16” wrench. Use the 3/4" (1/2”) long bolts and the barrel nuts (threaded part of the
barrel nut goes into the foot track hole) to secure the footbrace track to the hull (the hole
closest to the seat.) Tighten the 3/4'"(1/2”) bolt into the barrel nut (a barrel nut is used here
because the foot pedal needs to travel freely over the area.)

With your black marker - mark the rudder cable 6” back from the bow end of the rudder
cable. Put two swages onto the rudder cable and slide the two swages to this mark — slip the
loop (on the footbrace pedal adjustment strap) onto the rudder cable. Loop the rudder cable
back around and slip the rudder cable back into the swages. Clamp the swages tight around
the cable with vice grips or pliers. (NOTE: Make sure the rudder cable does not stick out
beyond the end of the last swage.) (Illustration #8)

Attach the stern ends of the cables to the outer holes on the rudder. Place a stamped washer
on each 10-24 x 1” bolt (small) and drop them down through the holes on the rudder. Place
a large flat washer then the cable loop then another large flat washer onto the bolt and
secure with a 10-24 locknut. (NOTE: Tighten the nut, being careful to leave enough room for
the cable to move freely.) (Illustration #9)

Tying the raising cords on the rudder: Fisherman’s Knot: A. Lay your two ropes side by
side, the ends pointing in different direction. You will need about 15” of free end on each
rope. B. Moving towards the second line’s free end, wrap the free end of the first line twice
around the standing part of the second so that the coils wrap around both ropes. Push the
free end through the center of the coils, leaving a 2—4 inch tail. C. Repeat by wrapping the
second line around the first in the opposite direction and on the other side, and then push the
free ends through the coils. Tighten the knot by pulling the standing ends of both ropes. You
can adjust the length of your raising cord by sliding the knots apart. (Illustration #10)

Stretch the rudder raising cord forward along the topside of the deck you mounted the cable
clamp to in step 7. Clip the hook end of the raising cord bungee to the raising cord, between
the two knots you just tied. Remove the cord lock from the end of the raising cord bungee
and slide the end of the raising cord bungee through the cable clamp on the topside of the
deck. After the raising cord bungee is through the cable clamp, replace the cord lock to keep
tension on the raising cord. (Illustration #7)

Rivet the jam cleat in line with the raising cord on the side deck. Position the jam cleat
approximately 12” back from the rear seat bolt alongside the raising cord (if the 12” mark
falls to close to any obstacles — move the jam cleat back or forward a few inches.) Use small
flat washers on the underside of the rivets when mounting the jam cleat, secure with a pop
rivet tool. The sloped side of the jam cleat should be facing the stern of the kayak so that
when the cord is in the cleat, it can be pulled out in the forward direction but will not slip out
when there is tension from the stern. (Illustration #11)



Rudder

W L
T 1" up '?—fa?t-line

from part-line

End of Kayak

Illustration #1 Tllustration #2

Part-line can be seen easily
on the outside of the kayak

£

IZ" in from part-line

Bulkhead

Illustration #3 llustration #4

Cable Clamp

- [ and Rivet

= -

Illustration #5 Tllustration #6

3"Forwardfrom. e
seat bolt B

R

T - - : Adjustment Strap ~ Rudder Cable

1" up from part-line

2 Swedge

Illustration #7 Illustration #8



©1" Bplt (small)
Stamped Washer

a Lg.Washer
Rudder Cable Loop
L Lg.Washer
i o s Lock nut
Illustration #9 Illustration #10
Jam Cleat

of Kayak

T
Sloped Towards Stern

Illustration #11

E1571
E1568 E3000

o

l E1574 E0354
=)

E1603 E1604 E1569

E0355 EO0149 E1792 E1585
= 5 @ e

1331.3154

1331.3143  E0353

NE0976 N E0969
N E0967 m

Have any comments or suggestions about these instructions, please send them to:
instructions@oldtowncanoe.com




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages false
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 0
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages false
  /ColorImageDownsampleType /None
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages false
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages false
  /GrayImageDownsampleType /None
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages false
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages false
  /MonoImageDownsampleType /None
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages false
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /ENU ([Based on '[Press Quality]'] Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


